

Parishes Together Fund Evaluation Form

This form must be completed by the lead parish or town council for the project and must be submitted by the deadline stated.

Section A: The basics

1. Name of the lead town or parish council:

Luppitt

2. Please list all of the town and parish councils involved:

Luppitt

3. What was your project in brief:

Ditch clearing

Section B: Finance

4. What was the total cost of your project?

£878.50

5. How much of the money came from the Parishes Together Fund?

£415.80

6. Has all the funding from the Parishes Together Fund been spent on your project?

Yes

No - If no, please get in touch as any unspent funding needs to be returned to us.

7. If the Parishes Together Fund did not pay for the whole project, where did you get the rest of the money to pay for it?

Give details of the amounts of funding and where it came from.

The balance of £462.70 was met by the precept under the parish maintenance budget.

8. Were there any in-kind contributions to the project? If so, please give details below:

For example non-monetary contributions such as volunteering time, lending equipment.

None

Section C: The results

9. Do you have any photographs of the project?

Before, during and after the project is carried out.

- Yes - please send accompanying photographs to jbuckley@eastdevon.gov.uk
- No - we do ask that photographs are sent of each project. If you applied for and are receiving Communities Together Fund monies in 2019, please make sure you take photos.

10. Do you have any other documents or evidence of success?

- Yes - please send accompanying documents and evidence to jbuckley@eastdevon.gov.uk
- No

11. How has the community benefitted, or how will the community benefit from your completed project?

Please give as much detail as possible, as this in particular provides the evidence we need to keep the funding going for you.

Keeping the ditches clean and free from leaves and other debris ensures that water is kept off the roads thus preventing potholes and damage to the road surface. Luppitt has a parish maintenance programme which is ongoing.

12. Was your project:

- Working alone on a drainage and ditches project - please move onto question 14
- Working together with other town and parish councils

13. How has the project involved town and parish councils working together?

Please give as much detail as possible, as this in particular provides the evidence we need to keep the funding going for you.

14. Did you face any obstacles to completing your project?

- Yes
- No - please move onto question 16

15. Please tell us about the obstacles that you faced:

16. What is the future of the project or work? (if relevant)

For example how will it be funded in the future if it's an ongoing project.

We have applied for money from the Highway Maintenance Community Enhancement Fund to continue with ditch clearing work. The HMCEF provided funds for 50% of the work with the balance being provided by the precept.

17. Please give details of any media interviews, press reports, newsletter articles etc about your project:

Please note as you agreed in the grant offer letter, all publicity about the project should credit funding from Parishes Together Fund and support from Devon County Council and East Devon District Council.

None

Thank you for taking the time to complete this form.

Please click on the 'submit' button below to send your answers to us.

PARISHES TOGETHER FUND – 2017/18 – LUPPITT PARISH COUNCIL

Contact: Rosalind Buxton, Luppitt Parish Clerk

Address: Courtmoor Farm, Upottery, Honiton, Devon, EX14 9QA

Tel: 01404 861565

Email: luppittclerk@yahoo.co.uk

Total grant: £415.80

Amount from Parish Council: £462.70

Amount from other sources: Nil

Project:

Clear all concrete gutters through Luppitt:

-) Mountstephens to Dolish Farm and then to Colehill
-) Snooks to Hillend

Ditch clearing:

-) Easement below Dumpdon and past Palmerhayes
-) Easement below Rolleshayes
-) Above Newhouse Farm towards the Mill and Barn Farm to Millrise and Pennythorne Cross

No other members of the community were involved in the work.

Immediate benefits:

Keeping the ditches clean and free from leaves and other debris ensures that water is kept off the roads thus preventing potholes and damage to the road surface. Luppitt has a parish maintenance programme which is ongoing.

A. R. Tucker Ltd. Agricultural Contractor

Fair View Farm

Luppitt, Honiton

Devon, EX14 4RY

Tel: 01404 891253 Mobile 07831 589111

Invoice

Tax Date	Invoice No.
28/02/2018	10124

Invoice To
Luppitt Parish Council Mrs R Buxton Courtmoor Farm Upottery Honiton Devon. EX14 9QA

Description	Qty	Rate	Amount	VAT
02/01/18 Clearing Ditches Luppitt to Millrise Labour Per Hour	5	17.00	85.00	S
03/01/18 Using Digger Per Hour Penny Thorne to Mountstevens	5	35.00	175.00	S
Using Handler " "	5	34.00	170.00	S
04/01/18 Hillend to Colehill Labour Per Hour	7	17.00	119.00	S
15/01/18 Using Digger Per Hour Pitt/ Barn/ Mill Hedgetrimming Per Hour	2.5	35.00	87.50	S
16/01/18 Using Digger Per Hour Barn /Mill rise/Blackenfields/Newhouse	1	32.00	32.00	S
6	6	35.00	210.00	S
24/01/18 Using Digger Per Hour Lay byes	7	35.00	245.00	S
Hauling with Tractor and Trailer Per Hour	7	34.00	238.00	S

Parishes Together

VAT%	VAT Amount	Subtotal	£1,361.50
S@20.0%	£272.30	VAT Total	£272.30
Total VAT	£272.30	Total	£1,633.80
Bank details:- Sort Code: 30-94-36 Account No 01591355		Payments/Credits	£0.00
		Balance Due	£1,633.80

Bank details:-
Sort Code: 30-94-36 Account No 01591355

artucker@btconnect.com

Company VAT Number 142818666

*paid 03/04/2018
cheque no 500445*